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BIF-T T Wifdd TG (stress) Tel & 7
(A) 3feexARAT

(B) Ui

(C) TdvrT

(D) efcairRad

PIRTT et # Tl & Ay gRasd &
feTg STaeardar gril 2 -

(A) ATP @

(B) WTS{ded AMP I

(©) THiifedt PremeT @l

(D) TEARTRFAE B

AlcllesT [T 9 & ?

(A) B Redeo Ried
(B) Tege Redew RieH
(C) HIRBNIeIT

(D) YHII-3EeH dex Ried

TR fpa A @ e
PRAT T 7

(A) TEge Reaed

(B) gcHom

(C) e

(D) WTECIHM

AG-203

(3)

Which one is not an biotic stress ?

(A) Alternaria

(B) Puccinia

(C) Salinity

(D) Helminthosporium

Active transport of elements across the
cell membrane requires :

(A) ATP

(B) Cyclic AMP

(C) Acetyl choline

(D) Phlorogucinol

Molybdenum is a component of :
(A) Phosphate reductase system
(B) Nitrate reductase system
(C) Phosphorylase

(D) Photolysis water system

Leghemoglobin protects the activity of :

(A) Nitrate reductase
(B) Nitroginase
(C) Catalase

(D) Cytochrome

Set-C



5. FafeIge iR IAA FT 31T ¢ 5.

(A) TaTgRE
(B) TRRIRH
©) fowem
(D) eI

6. UBRI-GIGNT H YHY Bl bHA-G I 6.

e ARSI B § 2
(A) el
(B) @
(C)

(D) =%

7. wlifharia  offefiow ool vgE 7

RyferT o] & S FefoRad ufdfshar &
@ ¥ I B T

(A) FAICT W

(B) 3FRICE T

(C) THI(A) I (B)

(D) SUYa H A Bl 7l

AG-203 (4)

The precursor of nicotinamide and 1AA
IS :

(A) Glycine

(B) Tyrosine

(C) Tryptophan

(D) Glutamine

Which colour of light is absorbed

maximum in photosynthesis ?

(A) Blue

(B) Red

(C) Violet

(D) Green

Reactive oxygen species are key

signalling molecule produce in response

to:

(A) Biotic stress
(B) Abiotic stress
(C) Both (A)and (B)

(D) None of the above

Set-C



10.

11.

yaTE §, GRS F goldg i s gR
HIHR fbar S € 7

(A) IR

(B) RIS

(C) wscImAa-f

(D) WTECIHIH-b

Tl @& USRI-3TEeT gRI BRAEASE 6
BRITIES ¥ AT BT heard &

(A fa Ruwm

(B) widi Rugar
(C) PRPRIZer
(D) TeMEPITSRR

UG- ¥ AT B Bl Al
g
(A)
(B)
(©)
(D)

ORI T ued © ?
(A) PSI

(B) Psli

(€) fa Ryam

(D) wsfed TRiS WSl

ATP
GTP Ud NADPH,

NADPH, Td ATP

ATP, NADPH, Td CO,

AG-203

(5)

10.

11.

In cyclic flow of electrons during

photosynthesis, the electron from

ferredoxin is accepted by :

(A)
(B)
(©)
(D)

Plastoguinone
Plastocyanin
Cytochromes-f

Cytochrome-bg

The
ferrocyanide by photolysis of water is

ferricyanide is  reduced to

called as :
(A)
(B)
(©)
(D)

Hill reaction
Blackman’s reaction
Phosphorylation
Glycolysis

The assimilatory power in photosynthesis

are .

ATP
GTP and NADPH;,

(A)
(B)

(©)
(D)

NADPH; and ATP

ATP, NADPH, and CO,

Ferredoxin is a component of :

(A)
(B)
(©)
(D)

PS 1
PS 11

Hill reaction

Citric acid cycle

Set-C



12.

13.

14.

15.

C, U H UP-HLIN & IR
arer gl Rer Al 7

(A)
(B)
©
(D)
giel & 9¢ 3R IO e T%F TE W
M R R S D e o S
goiellel e &l ©, fod & d S
SR B

PEP
3PGA

RIS Ris

RuBP

(D) SWa ¥ ¥ I3 T

Bfed™ g UTIT I R :
(A) CpUEl H

(B) C,umi ¥

(C) CAM U

(D) SHIE W

T~ % CO, Wadf ?

(A) BIRBIARDIE 3T

(B) RuBP
(C) difavTeigiice
(D) HIDIZAI UISHidd

AG-203

(6)

12.

13.

14.

15.

The first stable compound formed during

photosynthesis in C4 plant is :

PEP
3PGA

(A)
(B)
(©)

(D)

Oxaloacetic acid

RuBP

The ability of plants to grow and

complete their life cycle on a medium
that contains high soluble salt is known

as:

(A) Tolerance
(B)
(©)

(D)

Susceptible
Resistance

None of the above

Calvin’s cycle is found in :
(A)
(B)
€
(D)

Csplants
C4 plants
CAM plants

All of the above

The CO, acceptor in sugarcane is :
(A)
(B)
(©)
(D)

Phosphoglycolic acid

RuBP

Oxaloacetate

Phosphoenol pyruvic acid

Set-C



16. “H®D QT%&{[ B9l U SilaT I bl 16. The salt tolerant crops sustain their life

oReren A §RT 4T T ¥ ? cycle by maintaining :

(A) Na:Kratio (A) Na: Kratio

(B) UM &T A (B)  Accumulation of proline
(C) ABA &I HIeIvo (C) Synthesising of ABA
(D) SUgad JHI (D) All of the above

17. 9@ @ Rufd # W s S @wxa 17. Under saline condition plants accumulate

g: more .

(A) ABA (A) ABA

B) frRfer (B) Gibberallins
(C) SOD (C) SOD

(D) SUgad JHI (D) All of the above

18. Uil # fafevor ol waaNe Sof & wu 18. In plants, the radiant energy is stored in

¥ v sy § dfrg 2 80 the form of chemical energy as :
(A) ATP (A) ATP

(B) NADPH; (B) NADPH;,

©) WTG[ (C) Glucose

(D) Yfdetd TRFS (D) Nucleic acids

AG-203 (7) Set-C



19.
g
(A)
(B)
©
(D)

20.

g9 IR We dP  qel U™ o

Saccharum officinarum ¥

Zea mays 4

Pennisetum glaucum i

Hordeum vulgare i

UHTI-3997 BT GedeT o

(A) WNH

(B) TogPICRE
©) Hfos Thre
(D) WRPICATERRT

21.

Hed Th § T Yfifhal fhaad a9 q B

o AfE & fE & a ge e

g7
(A)
(B)
(©)

(D)

22.

Malic acid dIT Acetyl Coenzyme-A

Oxaloacetic acid AT Acetyl
Coenzyme-A

Pyruvic acid T=IT Acetyl Coenzyme-A

Pyruvic acid T Lipoic acid

®ed dh H, Ualgd UdlHed & foru

a9 H GfTol IARD 2

(A)
(B)
(©)
(D)

AG-203

Mn
Fe
Mg
Zn

(8)

19.

20.

21.

22.

Hatch and slack cycle is not found

in:

(A)
(B)
(©)
(D)

Saccharum officinarum
Zea mays
Pennisetum glaucum

Hordeum vulgare

Substrate of photorespiration is :

(A)
(B)
(©)
(D)

Serine
Glycolate
Malic acid

Phosphoglycerate

Kreb’s cycle starts with the formation of

six carbon compounds from a reaction in

between :

(A) Malic acid and Acetyl Coenzyme-A

(B) Oxaloacetic acid and Acetyl
Coenzyme-A

(C) Pyruvic acid and Acetyl
Coenzyme-A

(D) Pyruvic acid and Lipoic acid

In Kreb’s cycle, the mineral activator

required for enzyme aconitase is :

(A)
(B)
(©)
(D)

Mn
Fe
Mg
Zn

Set-C



23.

24,

25.

26.

AT qEF & R, AgCrdivgar § o 23,

YIS PR dTell Wedge © -
(A) T

(B) THiIfee PIUeEH-A

(C) BRBIASRRcSRISS

(D) UTERldd 3%

TSHITCIR T i< STTg 2 24.

(A) SliaHies s
(B) TATSHIfCId I
(C) WS 3%
(D) UIESdd 3

WS ¥ WIE dd ol &l W P AR T 25.

3aenfyd ok Gfud @ 9l & Ui & 26.

UE AT U & TR 9RI | RIARIRG
fepam ST ®1 S 59w # ST
g7

(A) TERIE

(B) SRIFIIRUI

(C) @y

(D) dTIHG

AG-203 (9)

During aerobic respiration, the substrate
which enters the mitochondria is :

(A) Glucose
(B) Acetyl coenzyme-A
(C) Phosphoglyceraldyhyde

(D) Pyruvic acid

The end product of glycolysis is :
(A) Oxaloacetic acid

(B) Glycolic acid

(C) Succinic acid

(D) Pyruvic acid

The upward movement of water from
root to shoot apex is known as :

(A) Ascent of sap
(B) Translocation
(C) Absorption

(D) Transpiration

The absorbed and accumulated food

material are transferred from one part of
plant to another parts of plants, it is
known as :

(A) Ascent of sap
(B) Translocation
(C) Absorption

(D) Transpiration

Set-C



27. U9 & O el dic ¥ g9 & fow 27. Which hormone is responsible for

=g el fReeRr & 2 escaping the plants from freezing
injury ?
(A) 3iffdor (A) Auxin
(B) WISCIBIZA (B) Cytokinin
(C) TUfaRi® o (C) Abscissic acid
(D) Tl (D) Ethylene
28. Ul ¥ gfg fhaw A Sl & ? 28. Plant growth is measured by :
(A) Osmometer (A) Osmometer
(B) Auxanometer (B) Auxanometer
(C) Potometer (C) Potometer
(D) Anemometer (D) Anemometer

29. WY ¥ MU @l fhad Y ITER b 29. Dwarfness of the plant can be controlled

if3a T o7 woar & °? by treating it with :
(A) GA (A) GA

(B) IAA B) IAA

(C) WrgCITgi (C) Cytokinin
(D) Ui (D) Ethylene

30. Pl Pl q;[%m Ugqq fhgd aj;rqﬁ g 30. Artificial ripening of banana is induced

URd BIr ® ? by application of :
(A) GA (A) GA

(B) IAA (B) IAA

(C) ABA (C) ABA

(D) Tl (D) Ethylene

AG-203 (10) Set-C



31. PfrUg Prfo/meR § : 31. Pfrand Pr are responsible for :

(A) Dfadrferar & forw (A) Photoperiodism
(B) THNHRI & forw (B) Vernalization

(C) TUBI-H¥ervol & forw (C) Photosynthesis
(D) ¥ & foru (D) Respiration

32. WcYCIV g% b {7 BG To@ier ) 32, For formation of cellulose polymer

TF T ‘_fﬁ 29 T glucose molecules are joined together
by :

(A) Alpha one-three linkages gRT (A) Alpha one-three linkages

(B) Beta one-four linkages gRT (B) Beta one-four linkages

(C) Beta one-three linkages gRT (C) Beta one-three linkages

(D) Alpha one-one linkage gRT (D) Alpha one-one linkage

33. Heg ool W AfddHaw Ul WM 9 s 33. A chemical substance found maximum in

IS U § middle lemella is :

(A) Ufded (A) Pectin

(B) forfi (B) Lignin

(©) qﬁﬁ:‘ (C) Suberin

(D) e (D) Cutin

34, WIRTS & NEEINIG G IR RG] TTIT(E 34. Sedimentation coefficient of ribosome of

2 plastid is :

(A) 10s (A) 10S

(B) 50S (B) 50S

(C) 70s (C) 70S

AG-203 (11) Set-C



35.

36.

37.

38.

TRIERY # AT &

(A) PRH A BIRHET § T BT
CICILLE|

(B) TSI ¥ BIHR STl & Alhy a0

(C) difcda IR A TR Tl @I
AT
(D) SwF wA

DPD &7 Jfiipad H9 fhdd sR1ER Bl
g7

(A) TP

(B) WP

(C) OP

(D) SWE & W B &l

A H SuRed Wl @l ®a A
HEATN B

(A) &S

(B) WIS

(C) & &

(D) sdTS

Eed H gfde I ok Sgem
N=pgdl Bd 2, fOFH 9 Ugell 31 "I
W ......................... Eﬁﬁgﬁwzﬁwgﬁ?ﬁé|

(12)

35.

36.

37.

38.

Osmosis involves :

(A) Cell to cell movement of water

(B) Active absorption of water through
roots

(C) Movement of
cortical cell

water  through

(D) All of the above

Maximum value of DPD is equal to :

(A) TP

(B) WP

(C) OP

(D) None of the above

Total amount of water present in the soil
Is termed as :

(A) Holard

(B) Chesard

(C) Field capacity

(D) Echard

Xylem consists of tracheid’s vessels and
xylem parenchyma of which the first two
thick walled due to deposition of :

(A) Lignin

(B) Pactic acid
(C) Anthocyanin
(D) Flavonoids

Set-C



39.

40.

41.

AG-203

33 09 fRioT ® ST T8 <Ed

R -

(A) ST T8 el 1< T 2|

(B) frier 9 arel arfoued €|

(C) 3= s # Sfua uror & Mo
gl

(D) UfeRor ¥ uferRl @ H/AT U B
gl

Al T’ IR fhdd R QT T T ?
(A) Straburger (1891)

(B) Overton (1911)

(C) Stephan Hales (1727)

(D) Goldewaski (1884)

R B 9 foxdl PR I TR~
gl H Y@ ¥ Yd I Yediaid § @
g7

(A) CHESS B ST

(B) e ST

(C) ¥wiIfdd B el

(D) JTaq &

(13)

39.

40.

41.

Several seedlings do not survive on the

transplantation because :

(A) They don’t like the new soil.

(B) Most hairs are damaged.

(C) They don’t get proper nutrition in

the soil.

(D) Leaves get demand due to

transplantation.

The term ‘root pressure’ was coined by :

(A) Straburger (1891)
(B) Overton (1911)
(C) Stephan Hales (1727)

(D) Goldewaski (1884)

What will happen to the cell which has
been kept in alcohol for some time before

placing into hypotonic solution ?

(A) Plasmolyse
(B) Burst
(C) Become turgid

(D) Remain unchanged

Set-C



42.

43.

44,

AG-203

q fifire oftedd aRmRi ¥ fiR
AUSIHR ATHR & BIC-BIC TFGI S AT
I & -

(A) TS DI

(B) WRTHTEHCH DI

(C) SIEH DIRIGY

(D) TelIeH PRI

UNSG dal @1 JIFARIAT &1 AFeS fhad
g fear man ?
(A) Arnon T Stout (1939)

(B) Knops T Sachs (1940)

(C) Hoagland (1940)

(D) Gerick (1940)

o & gEdE AR W U @) e
BB ¢

(A)  3FaINor

(B) URIRIT

©) fagum
(D) AT

(14)

42.

43.

44,

Minute pores of elliptical shape

surrounded by two specialized epidermal

cells are known as :

(A) Guard cells

(B) Parenchymatous cells

(C) Xylem cells

(D) Phloem cells

The criteria for essentiality of nutrients

was given by :

(A) Arnon and Stout (1939)

(B) Knops and Sachs (1940)

(C) Hoagland (1940)

(D) Gerick (1940)

The loss of water from the aerial parts of

plants is known as :

(A) Absorption

(B) Permeability

(C) Guttation

(D) Transpiration

Set-C



45 Ugl ¥ qcded @l = o 2l 45. The chief role of transpiration in plant is

% : to:

(A) U BT R BT (A) Removal of water

(B) UMl Bl T BT (B) Cooling of plant

(C) ¥ TR (C) Rapid ascent of sap
(D) WY a9 BT Ag I (D) Rapid rise of minerals

46. f=foRed § § 9-91 oR$ dgFH ok~ 46. Which  of the following  factors

T A N @l e edl o affects  temperature  and  rainfall
condition ?

(A) IS (A) Thermodenaturation

(B) TIeH (B) Translation

(C) TNBHIE (C) Transformation

(D) TR (D) Transpiration

47. 99 BT W AT GRTH B 47. Khaira disease of rice is the consequence

of :

(A) IR DI BH G (A) Boron deficiency

(B) 1@ @1 & &1 (B) Zinc deficiency

(C) HWIRRE o S 1 (C) Magnesium deficiency

(D) Sugad FI (D) All of the above

AG-203 (15) Set-C



48. BRI diRe RIGHT & o yirriea
ferar o ?
(A) EIFE (1937)
(B) Tl (1962)
(C) TUSTG TAT T¥H (1933)
(D) RfEead (1951)
49. G T $ Hed B PG X Y YA
T Fifh -
(A) 9 U % fofg Sreeiel |
(B) d UMl GRT WISl & #RIH ¥ @I Y
g
(C) Uy IRR faenfral 4 5= Uiy H
SRR
(D) ST WY & WU # I@uiid fom
T XET T |
50. W& O, TS dferdl JaT O g gU
g W § TRY W W OGN © 91 feu
..................... & 7 & TR we A B
(A) Ca
(B) K
€ B
(D) Mo
AG-203

(16)

48.

49.

50.

The Carrier Concept theory was proposed

by :

(A) Honert (1937)
(B) Street (1962)
(C) Lundegardh and Burstom (1933)

(D) Robertson (1951)

Importance of micro element was

recognised rather belatedly because :

(A) They were toxic to plant.

(B) They were lost by plant through

roots.

(C) Plant physiologists did not find

them in plant.

(D) They were being absorbed as

contamination.

Symptoms like terminal buds, the young
leaves become hooked, die back at
margins or the tip appears due to
deficiency of :

(A) Ca

(B) K

(€ B

(D) Mo

Set-C



51. T &1 Y 4R fhwal &9 & dRoT 51, Top sickness of tobacco is caused due to

A L2 deficiency of :
(A) Mo (A) Mo
(B) Bo (B) Bo
(C) Mg (C) Mg
(D) Cu (D) Cu
52. o1 SaRa 2 : 52.  Zinc is an activator of :
(A) 3T TRTS @ (A) Amino acid oxidase
(B) fowma e a1 (B) Tryptophan synthase
(C) Hg4TgT qern f%aggﬁ?mm E2l (C) Succinic and dehydrogenase
(D) PEPCO &I (D) PEPCO
53. [dg@md e IR BT & ? 53.  Guttation takes place through :
(A) dTU3ed (A)  Wounds
(B) difewed (B) Lenticles
(C) TzsUred (C) Hydathodes
(D) el (D) Stomata
54. I g I fogadl o & RO Bdl 54. The brown heart disease is caused due to
27 deficiency of :
(A) dfEr (A) Copper
(B) HiferesTH (B) Molybdenum
(C) dRM (C) Boron
(D) SUYa H A Bl Tl (D) None of the above

AG-203 (17) Set-C



55.

56.

S57.

AG-203

deH I fEwel w W R o
g ?

(A)  FIRRE

(B) HTHW

(C) SRA

(D) IRH

B3 Bell 3R Gfeotdl o droll SuR a8

PTctl il 81 IRl 8 7

(A) TET AMH ST W AR B KB R
BIS <l ¢ |

(B) el ®Te 3T & B 2 |

(C) TRy ¥ IURT ¢ & F 3D
SR T 9T |

(D) @@ ¥ dlg & AW I IR o
e TS @ SifRiaR 3% el
R T & |

PA-A Td gfdeld TRTS, BIITeUS,

T, T, TATE H A B © 2

(A) IRME
(B) fNid
(C) HIHRA
(D) ST

(18)

55.

56.

57.

Sandrone disease is found due to

deficiency of :

(A) Magnesium
(B) Manganese
(C) Iron

(D) Boron

Why do freshly exposed surfaces of many

fruits and vegetables become dark ?

(A) Dirty knife leaves some traces of

iron on them.

(B) The fruits are in black colour.

(C) Dust from atmosphere settles on

them.

(D) Oxidation of tanic acid in presence
of the trace of iron from the knife

makes them darks.

Which element is common to nucleic
acids, ATP, ADRP,

NADP ?

phospholipids,

(A) Boron
(B) Zinc
(C) Phosphorus

(D) Sodium

Set-C



58.

59.

60.

AG-203

fFfoiad @ fbaer ST S a9
& Hodld & wY H fHar S FaelT € ?
(A) TV SR &

(B) X dreTdhdl

(C) Wil T dI9HM

(D) SHIF T

H* 3R OH ¥ Uil & 373l & fderd &
frfoRad wY # ST ST @

(A) T BT BISRN

(B) WwreMiRafsH

(€) T <M

(D) SHIE W

YBR-GeCN B BRI AWHAT B
ARNM WA @ US-IUECT ¥ FHRd
dd ©

(A) Mg
(B) Mn
(C) Zn

(D) Fe

(19)

58.

59.

60.

Which of the following can be used as an

indicator of water stress ?

(A) Relative water content
(B) Stomatal conductance
(C) Leaf temperature

(D) All of the above

Splitting of water molecules in H* and

OH is known as :

(A) Photolysis of water
(B) Photoperiodism
(C) Root pressure

(D) All of the above

An element concerned with the photolysis

of water during light reaction of

photosynthesis is :

(A) Mg
(B) Mn
(C) Zn

(D) Fe

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL
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